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PART - 1
02. Write skortanswers to any SIX (6) questions; (2x6=12)
() Define Symmetric Matrix.

e 102
W=

(iv) Simplify 2 (5% (v) Write in ordinary notation 6 x 0

they verify (A") = A (iii) Express the following decimal in the form 01'5 0.23

(vi) Find the value of x log, 256 =x  (vii) Change into the lowest form (thyzy)“}’
iiSimplfy (VS +\3] (i) 4 -(2y- 2
03. Write short answers to any SIX (6) questions: (2x6=12)

(i) Define H.CF (if) Solve the equation 2x -3 -7=0

(ii1) Solve for'x'[3x - 5/=4

(iv) Define an ordered pair.

(v) Find the value of m and ¢ by expressing it in the form of y =mx + ¢, 2x + 3y - | =0

vi) Find the distance between the pair of points A(9,2) , B(7.2)

(vii) Find the mid point of A(9.2), B(7.2)

(viii) What is meant by A.S.A postulate. (ix) Define parlﬂlllllélagram.

(4. Write short answers to any SIX (6) questions: (2x6=12)
(1) De'ine supplementary angles. A 1L g

(it) 3ci., demand Tem are notthe Jengths ofithe riangle. Give the reason.

(iii) What is meant by similafTiangles? © * i E
(iv) In ALMN, MN | PQ In'mLM = 6cm, mLQ = 2.5cm mQN = Sem, Then find mLP J

(¥) Write down the formula of Pythagoras Theorem. (vi) Find the value of x.
| em
(vii) Define area of a figure.
(viii)Constructa AXYZ, in which mXY = 5.5¢m, mZX = 4.5¢m. mZZ = 90°
(1x) Define the orthocentre of a Triangle.
PART . Il
Note: Attempt any three questions. Question number 9 is compulsory. (Bx3=24)
05. (a) Solve the matrix by inversion method, 4x + y = 9, -3x -y = -5 4
! i+h Ih brg -xt ten
(h) Shuwthal( J (;r) *(i—“-) = d
; . 0.678x9.01
06. (a) Find the value using Log table 00034 .
]
(b) If H;:Hhenlindihevalueul ?i‘*+'xl—3,='-’ :
Q7. (a) Factorize 8x* + 60x2 + 150 + 125 4
(b) Use division method to find the square root of x* - 10x¢ + 372 - 60x + 36
3(x~3)
08. (a) Snlve—ﬁ—~! l-§ 4

09. Prove that any point inside an angle, equidistant from its arms, is on the bis B

(b)  Construct the triangle ABC. Draw the bisectors of their angles. mAB=45cm mBC=3.1cm ﬁﬁ.zm
(OR) Prove {nat triangles on equal bases and of equal altitudes are are equa -alea. J
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